Area (HKMO Classified Questions by topics)

1992 HI16
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A(1, 1), B(a, 0) and C(1, a) are the vertices of the triangle ABC.

Find the value of a if the area of AABC is 2 square units and a > 0.
1992 FG7.3

R OABC 5 F4 © B(4.10)
Find the area of OABC. A( 8.9)

(12, 1)

0(0. 0)

2003 HG7

UEE p+3x—4=02PPFZy=x> p2> 4 % B~

%0 i RE > K AOAB 5w F o

Suppose the straight line y + 3x — 4 = 0 intersects the parabola y = x? at points 4
and B respectively. If O is the origin, find the area of AOAB.

2023 FI3.3

fox-y BT e Food (400,0) ~ (—400,0)~(0,1) 2 (0,-1)#77) = 2_ % A)e0
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The area of the rhombus on the x-y coordinate plane with vertices (400, 0), (—400,
0), (0, 1) and (0, —1) is C square units.

Find the value of C.

2024 FI1.3

fox-y BEtETe Food (29,0)(-29,0)~(0,2) 2 (0,-2)%77) = 2. & A5
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The area of the rhombus on the x-y coordinate plane with vertices (29, 0), (=29, 0),
(0, 2) and (0, —2) is C square units. Find the value of C .
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Answers
1992 HI16 1992 FG7.3 2003 HG7 2023 FI3.3 2024 FI1.3
3 116 10 800 116
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